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QUESTION 1

A customer needs to pass Layer 2 protocols between sites. 

Which protocol or standard would be required to implement connectivity on EX4300, EX3400, and EX2300 devices? 

A. Q-in-Q 

B. IGMP 

C. VPLS 

D. OSPF 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit. 
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You are adding a Junos Fusion satellite device but one cascade port is not coming on line. 

Referring to the exhibit, what would cause this problem? 

A. The satellite device is not an EX4300. 

B. The cascade ports need to be on the same line card. 

C. The FPC number must match the FPC connecting to the satellite device. 

D. Interface xe-8/2/1 is in a link down state. 

Correct Answer: D 
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QUESTION 3

Click the Exhibit button. 

You have configured 802.1X single supplicant mode on the access switch. The VoIP phone does not support 802.1X
authentication. 

Referring to the exhibit, which statement is true? 

A. MAC bypass must be configured for the VoIP phone for this solution to work. 

B. Authentication must be changed to multiple supplicant mode for this solution to work. 

C. The VoIP phone will be able to communicate over the network after the workstation authenticates. 

D. The VoIP phone will not be able to communicate over the network. 

Correct Answer: C 

 

QUESTION 4

What information must you gather from the satellite device to provision a Junos Fusion Enterprise deployment on the
aggregation device? (Choose two.) 

A. MAC address 

B. Serial number 

C. Software version 

D. Model number 
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Correct Answer: AB 

 

QUESTION 5

Which three databases are used by the Dijkstra algorithm? (Choose three.) 

A. Tree database 

B. Link State Database 

C. Candidate database 

D. MAC database 

E. Configuration database 

Correct Answer: ABC 
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